CSSE 371
Software Requirements Engineering
Exam 1, Fall 2013 - Key
Name: _______________________________________

Mailbox:______________________________________

1. Closed book, with one hand-written, double-sided sheet of notes.

2. Your answers must be concise and address the question directly.  

3. All questions in Part A should be answered in 3 to 4 sentences, or as directed. 

4. Please provide contextual information you think is necessary to understand your answers in Part B

Part A:                   / 70 Points

	Question 1
	
	6 Points

	Question 2
	
	8 Points

	Question 3
	
	8 Points

	Question 4
	
	8 Points

	Question 5
	
	8 Points

	Question 6
	
	8 Points

	Question 7
	
	8 Points

	Question 8 
	
	8 Points

	Question 9
	
	8 Points


Part B:                   / 30 Points

	Question 1
	
	15 Points

	Question 2
	
	15 Points



Total:                    / 100 Points
Part A

1. Some of you have now seen “Meetings, Bloody Meetings” three or four bloody times!  Pick one of the five failings of the main character (John Cleese), as a meeting leader, and explain how he fixed it. (6 points)
Answer:  The five failings were:

Failing to prepare himself.  Fix – He thought-out the purpose of the meeting, or else he cancelled it.
Failing to inform others.  Fix – He made sure everyone who should be there was there, and knew the reasons for the meeting.
Failing to plan the agenda.  Fix – He had an ordered list of topics, considering both the urgency and importance of each.
Failing to control the discussion.  Fix – He allocated time according to a topic’s importance.
Failing to record the decisions.  Fix – He listed what was decided and who had to follow-up in some way.


2. We and Leffingwell talked about reasons for project success and failure.  From the study we noted, pick one of the three main ways project success is based on requirements, and write a sentence about why you believe that is the case. (8 Points)

From Leffingwell, p. 8, the three quoted are:
User involvement (16%)

Executive management support (14%)

Clear statement of requirements (12%)
Any reasonable linking of one of these to project success got credit.
3. Draw the triangle with Needs, Features, and Requirements in it.  Explain in one sentence why they are ordered in the way shown.  (8 Points)

From Leffingwell, p 21, or the slides, the triangle looks like this.  And they are ordered this way because the Needs are general expressions which often come first, from the customer, and those lead to features which are detailed into requirements:
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4.  The spiral and iterative life cycles differ primarily in what way? (8 Points)

The spiral model describes successive cycles to get a single release to a customer.  The iterative model divides the work into multiple releases that go to the customer over time.
5. Fishbone the problem of not having enough time to do all your homework.  Include three things that might be your own fault and three things that are outside your control. Pick any one of these reasons and add another layer of root causes to it, in your figure.  (8 Points)

Answer:  Almost anything is correct that looks like a fishbone diagram and has the proper number of reasons, with a second level for one of those.
6. Create a four-sentence persona for a student who will use the system your class is creating. Make it goal-based, suggesting why the student wants to use the system. (8 Points)

Example:  Dave is a junior who has just figured out he can graduate one term early.  He is excited about going to grad school, and so wants to take electives that focus on a specialty which University of Michigan and Carnegie Mellon both like.  He is willing to overload to do this.  He needs to know which possible electives in his major he already has the prerequisites for.
7. Once you describe a problem to brainstorm, there are two big parts to it:  Discover and Decide.  (a) Why is it important to separate these? And, (b) What is involved in the second part?  (8 Points)

(a) Mixing them puts people into a more critical mode of thinking, which works against getting more creative ideas out in the open.
(b) Decide is idea reduction or pruning, where all the generated ideas are analyzed. It includes pruning, organizing, ranking, expanding, grouping refining etc.
8. In the Baggage System case study, how were requirements mis-handled? (8 points)
Several things happened, including the following:
· Everyone thought the same basic requirements would work for a much larger baggage handling system.

· Requirements were supposed to be frozen, but were not.  Many late ones were accepted.

· The “client” role wasn’t clear, as many stakeholders exerted influence on the requirements.  (E.g., individual airlines and the city council.)

· The project timeline was not extended to accommodate new requirements.
9. Suppose you are gathering data from potential users for your project. Compare Interviewing to Focus groups, in terms of the following dimensions:  (8 points)
a. What these are each good for:


b. What kind of data you get:


c. Their relative advantages and disadvantages:
Interviewing is good for exploring issues, while Focus groups are good for collecting multiple viewpoints.  Both give mostly qualitative data, like what stakeholders like or don’t like.  The advantage of Interviewing over Focus groups is that it gives you independent opinions, and the interviewer can guide the conversation more easily.  The advantage of Focus groups is that they give more opinions at the same time, possibly reaching a consensus.  Some people find Interviewing more intimidating.  Sometimes in Focus groups certain people dominate the conversations.
Part B

1. (15 points) The following narrative describes one way you order a book on Amazon:
Go to the Amazon web site. Pick the department you want – Books & Audible -- Books.  In the Search window, type the subject of the book, say, “Artificial Intelligence.”  Scroll down the list until you see one you really like.  Click on the cover and read the description.  Say, “Our final invention:  Artificial intelligence and the end of the human era, by James Barrat.”  Read about it to confirm it’s what you want.  Click on the order button, or “pre-order” if it’s not yet available.  Then Proceed to checkout.  [That’s covered in a separate use case.]
Write a use case that uses the above information, describing the required steps in the process of ordering a book:
Use case name: Order book
Brief description: How to order a book on Amazon.
Actors: Customers
Precondition:  The actor has a web browser up.
Main flow:

1. User types Amazon as the thing to search for, in something like Google.
2. System responds by showing options including Amazon.com.
3. User goes to the list for Departments and picks Books & Audible.

4. System prompts for more information.

5. User picks Books.
6. System shows a new page for Books, with a Search window.
7. User types the subject into the Search window.

8. System shows a list of books, in some order, like popularity.

9. User scrolls down and selects the book of their choice.

10. System displays a page detailing the book chosen.

11. User reads about it, moving around on the page.

12. User selects to buy the book, finds the “order” button.

13. User presses “order”.

14. System goes to Checkout page.  See separate use case for this.
Postconditions: The user is ready to checkout, buying the book chosen.

Alternate flows:

12a. The book is not yet available. It shows a “pre-order” button instead of “order.”  User finds this button.
13a. User presses “pre-order.”
14a. System goes to Checkout page, showing pre-order info.  See separate use case for this.
- Plus some other error condition, etc.
2. (15 points)  You need to do a “usability” quality attribute scenario, using the format provided in the class discussion slides.  Here’s the situation to describe in that format:
We want to allow users to go back and fix errors, by undoing things they have typed or clicked on.  In the runtime system, by asking to “undo,” they can see immediately each previous step, in succession, and thus backup to where they made the error.
· Source of stimulus:  Users
· Stimulus: Minimize impact of errors
· Environment:  At runtime
· Artifact: System
· Response:  Wishes to return to a previous state
· Response measure: Undoes success operations, in reverse order, observing effects.
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